

DCI Products Reference Chart

Place product orders through DCI Products

	Product Code	Product Name & Description	Dimensions/Box sizes/Pallet Qty
(FV	FasciaVent <u>Attic intake ventilation</u> Use with any slope, Metal and Asphalt roofs.	Specs: 36" x 10½" x ¾" Net Free Area: 9sq inches per linear foot Box Quantity: 66' - 22 pieces Pallet: 18 boxes
	CV CVP	CedarVent & CedarVent Plus Versatile roof and wall ventilation. Ideal for cedar shake siding and shingles	Specs: 2 ³ / ₄ " x 36" x ³ / ₈ " Other Thickness: ¹ / ₈ ", ¹ / ₂ ", ³ / ₄ ", 1", 1 ¹ / ₈ ", 1 ¹ / ₂ " Net Free Area: 4.5sq in. per linear foot Box Quantity: 270' - 90 pieces (3/8") Pallet: 18 boxes
	SB16 SB24	SmartBaffle Rugged design, Won't collapse, rip or tear. Perfect for use with Spray Foam insulation	Specs: 37" x 18 ½" or 37" x 26 ½" Sizes: 16" or 24" rafter bays Box Quantity: 36 pieces Pallet: 18 boxes
	USRV	US RoofVent <u>Attic intake or exhaust ventilation</u> External weather fabric protection that can be used on the following: (for Intake) Eaves, Mid Roof, (for Exhaust) Shed, Off-Wall, Off-Peak & Ridge	Specs: 20' x 10½" x ¾" > ½"(Tapered) Net Free Area: 9sq inches per linear foot Box Quantity: 20' - 1 Roll Pallet: 24 rolls
	FF5K48 FF6K36 FF5R48	Flo-Free Leaf Guard Advanced all season gutter protection Made for K-style, half round and custom gutters. Can be used in new or existing gutters.	Specs: 36" x 5"K, 6"K, 5"R Box sizes: 5"K-48' ● 6"K-36' ● 5"R-48' Pallet: 18 boxes 5K:48' BOX 6K:36' BOX 5R:48' BOX
	RT5 RT558 RT8	RevealTapeShingle Layout TapesFor perfect alignment of shingles. Perfect for multiple crews working around obstacles.Comes in 5", 5%", and 8" reveals.	Reveal Markers: 5", 5%", 8" Specs: 200' per roll
Installs from dock to Parcia	SG	SoffitGuard Stop gutter leaks BEFORE they occur! Easy installation adds little to no added time on the job site and prevents call backs for repairs.	Specs: 37.5" x 6" Box Quantity: 33 pieces Pallet: 18 boxes

Please contact DCI Products for sales and support • 800-622-4455 or info@dciproducts.com



IPS/DCI Products Reference Chart

Place product orders through IPS Roofing Products

	Product Code	Product Name & Description	Dimensions/Box sizes/Pallet Qty
	80750	Attic intake or exhaust ventilation External weather fabric protection that can be used on the following: (for Intake) Eaves, Mid Roof, (for Exhaust) Shed, Off-Wall, Off-Peak & Ridge	Specs: $36" \times 10\%" \times 34" > 1/8"$ (Tapered) Net Free Area: 9 sq. in. per linear foot Box Quantity: $54' - 18$ Pieces/box Pallet: 28 boxes - 504 Pieces
	80751	SmartVent End Caps Provide smooth transititons to the roof decking when ap- proaching obstacles or walls.	Specs: 10½" x 10½" x ¾" > 1/8" Box Quantity: 12 Pieces/box Pallet: 108 boxes - 1296 Pieces
	80752	SmartRidge I Single-sided attic ridge ventilation Hidden street side ridge exhaust.	Specs: 36" x 10½" x ¾" Net Free Area: 18sq. in. per linear ft Box Quantity: 48' - 16 Pieces/box Pallet: 28 boxes - 448 Pieces
A	80753	SmartRidge II – 7" Exhaust ventilation Double sided exhaust ventilation. External weather fabric protection	Specs: 36" x 7" x ¾" Net Free Area: 18sq. in. per linear ft Box Quantity: 72'- 24 Pieces/box Pallet: 28 boxes - 672 Pieces
A	80754	SmartRidge II - 8.5" Exhaust ventilation Double sided exhaust ventilation. External weather fabric protection	Specs: 36" x 8½" x ¾" Net Free Area: 18sq. in. per linear ft Box Quantity: 48' - 16 Pieces/box Pallet: 28 boxes - 448 Pieces
A	80755	SmartRidge II - 10.5" Exhaust ventilation Double sided exhaust ventilation. External weather fabric protection	Specs: 36" x 10½" x ¾" Net Free Area: 18sq. in. per linear ft Box Quantity: 36' - 12 Pieces/box Pallet: 28 boxes - 336 Pieces
	80756	ValleyVent <u>Cross ventilation</u> Use on new or retro-fit construction. Cross ventilation around Valleys, Skylights, Hips, Chimneys and other obstacles.	Specs: 2 ¾" x 24" x ¾" > 1/8"(Tapered) Net Free Area: 9sq. in. per piece Box Quantity: 84 Pieces/box Pallet: 28 boxes - 2352 Pieces



IPS Reference Chart

Black

Weathered Gray

SCBLG SCGRG

Place product orders through IPS Roofing Products

Product Name & Description			
SnapCap Exhaust Vent Caps All-Flow capability; counterbalanced damper works with any CFM fan 3", 4", & 6" adapters for secure connection to multiple duct sizes	T		
Dimensions / Box sizes	- B-	8	
Specs: 3.5625" x 12.375" x 16"			
Connection to 3", 4", & 6" ducts			
Box Quantity: 1 vent Pallet Quantity: 72 Weight: 6 lbs.			
FINISH	CODE	COLOR	MODEL
Galvanized Steel	81680 81681	Brown Black	SCBRG SCBLG

Ventilation and Flashings distributed by IPS

81681

81682

	PRODUCT	DESCRIPTION	DIA.	MODEL	UNITS/ CASE	LBS/ CASE
	80700	360™ Roof Vent Gray	8"	360GRAY	7	10
	80701	360™ Roof Vent Black	8"	360BLACK	7	10
	80702	360™ Roof Vent Brown	8"	360BROWN	7	10
	80706	Compact Solar™ Roof Fan Gray	8"	SOLAR1	2	10
	80716	Compact Solar™ Roof Fan Black	8"	SOLARBLK	2	10
	80726	Compact Solar™ Roof Fan BROWN	8"	SOLARBROWN	2	10
	80707	Air-Swirl™ Roof Vent	12"	SWIRL1	2	9.5
	80708	Air-Swirl™ Retrofit Turbine Cap Only	12"	SWIRL1RETRO	2	9.5
1	81716	Aluminum 1 1/4" , 1 1/2", 2", 3" or 4"	12"	AB41	20	16.5
	81893	Brown 1 1/4" , 1 1/2", 2", 3" or 4"	12"	AB41BROWN	20	16.5
	81894	Black 1 1/4" , 1 1/2", 2", 3" or 4"	12"	AB41BLACK	20	16.5
- Arris	81895	Gray 1 1/4" , 1 1/2", 2", 3" or 4"	12"	AB41GRAY	20	16.5



IPS/DCI Products Reference Chart

Place product orders through IPS Roofing Products

	Code	Product Name & Description	Units/ Case	Lbs/ Case
	81715 81717	3N1 Aluminum Base Flashing 10 ³ / ₄ " x 14 ¹ / ₂ " Base for 1 ¹ / ₄ ", 1 ¹ / ₂ ", 2" or 3" Vent Pipe 12" x 16" Base for 3" or 4" Vent Pipe MULTI-SIZE 3N1 AND 3N4 COPPER BASE ROOF FLASHING	20 20	13 15
Same	81490 81941	3N1 Copper Base Flashing 12" x 16" Base for 3" or 4" Vent Pipe	5 &10 5 &10	
	81900 81905 81910 81915 81937	STANDARD ALUMINUM BASE ROOF FLASHING $8 \frac{3}{4}$ " x 12 $\frac{1}{2}$ " Base for 11/4" or 11/2" Vent Pipe $8 \frac{3}{4}$ " x 12 $\frac{1}{2}$ " Base for 2" Vent Pipe 10 $\frac{3}{4}$ " x 14 $\frac{1}{2}$ " Base for 3" Vent Pipe 12" x 16" Base for 4" Vent Pipe 18" x 18" Base for 1/2", $\frac{3}{4}$ " and 1" Vent Pipe	20 20 20 20 20 15	9 9 13 14 46
	81700 81702	MULTI-SIZE 3N1 AND 3N4 HARD PLASTIC BASE ROOF FLASHINGS 11 1/8" x 15" Base for 11/4", 11/2", 2" or 3" Vent Pipe 12" x 151/2" Base for 3" or 4" Vent Pipe	20 20	11 13
	81765	STANDARD HARD PLASTIC BASE ROOF FLASHING 12" x 15½" Base for 4" Vent Pipe	20	13
	81746	ELECTRICAL MAST ROOF FLASHINGS Electrical Mast RetroFit Roof Flashing, 0 to 3 3/8"	15	17
٢	81720 81722	MULTI-SIZE 3N1 AND 3N4 RAIN & REPAIR COLLARS Collar for 11/4", 11/2", 2" or 3" Vent Pipe Collar for 3" or 4" Vent Pipe	20 20	5 5
Ē	99100 99102	APE-2000 ONE-WAY AIR PRESSURE EQUALIZER Dim: Ht: 11.25" - Base Dia.: 11.00" - Stack Dia.: 6.00" - Cap Ht: 4.25" Tite Top with Insulator, One Way Removable Top with Insulator , One Way	4 4	10 10
	99104	BALLARD JL-10 ONE-WAY VENT Dim: Ht: 9.75" - Base Dia.: 11.25" - Stack Dia.: 4.25" - Cap Ht: 1.50" One Piece Tite Top with Insulator, One Way	10	11
	86095 86105	COMMERCIAL ROOF DRAINS & ACCESSORIES With Cast Iron Dome for 3" PVC Pipe With Cast Iron Dome for 4" PVC Pipe	1 1	8 8

IPS Roofing Products for sales and support • 800-888-8312 or tncustserv@ipscorp.com